electron channel

NsejEstattsys

€se1LstatEsys (%)

muon channel

NseEstattsys

€se1EstatEsys (%)

Tin(700) b 1.0+024+04 004+£0014+£002| 59+0.6+09 0.25+0.03+0.04
Tin(1200) b 13.74+08+£1.6 062+0.044+007 | 224+1.1+27 097 £0.054+0.12
Tin(1700) b 1494+09+20 067+£0.044+0.09 | 2214+1.14+23 095+0.0540.10
T4x(700) b 1.3+£03+05 006+0014+0.02 | 8.6+0.7+1.6 0.37+0.034+0.07
T4(1200) b 173+£09+21 0784+0.04+0.09 | 299+13+£35 1.294+0.06+0.15
Tx(1700) b 202+1.0+23 0914+004+010 | 314+£13+29 1.35+0.06£0.13
T, (700) t 51+£05+08 0234+0.02+0.04 | 13.8£09+2.0 0.60=+0.04+£0.09
T1L(1200) t 16.84+09+18 076+0.044+008 | 29.14+12+31 1.26+0.054+0.13
TL(1700) t 205+£1.0+£19 0924+004+0.09 | 324+13+3.0 1.404+0.06+0.13
T.x(700) t 64+06+11 0294+003+£0.05|1424+09+1.6 0.61+0.04+0.07
T (1200) t 1954+1.0£20 088+0.044+0.09 | 326+13+26 1.41+0.06+0.11
T4(1700) t 21.2+1.0+21 0954+0.04+0.09 | 335+£14+29 1.454+0.06£0.13
bkg (post-fit) 34.8+1.4 133.4+25

Data 35 134



